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1
Which expression represents “5 less than twice x”?

	1)
	[image: image1.png]2x—5





	2)
	[image: image2.png]




	3)
	[image: image3.png]




	4)
	[image: image4.png]






2
A correct translation of “six less than twice the value of x” is

	1)
	[image: image5.png]2x <6





	2)
	[image: image6.png]2x—6





	3)
	[image: image7.png]6 < 2x





	4)
	[image: image8.png]






3
Which algebraic expression represents 15 less than x divided by 9?

	1)
	[image: image9.png]215





	2)
	[image: image10.png]Ox—15





	3)
	[image: image11.png]15-2





	4)
	[image: image12.png]15-9x







4
When translated into symbols, "three less than half of a number" is

	1)
	[image: image13.png]




	2)
	[image: image14.png]




	3)
	[image: image15.png]1
33





	4)
	[image: image16.png]






5
Which verbal expression represents [image: image17.png]


?

	1)
	two times n minus six

	2)
	two times six minus n

	3)
	two times the quantity n less than six

	4)
	two times the quantity six less than n



6
Which verbal expression is represented by [image: image18.png]Lo



?

	1)
	one-half n decreased by 3

	2)
	one-half n subtracted from 3

	3)
	the difference of one-half n and 3

	4)
	one-half the difference of n and 3



7
Which verbal expression can be represented by [image: image19.png]


?

	1)
	5 less than 2 times x

	2)
	2 multiplied by x less than 5

	3)
	twice the difference of x and 5

	4)
	the product of 2 and x, decreased by 5



8
Which verbal expression is represented by [image: image20.png]2(x+4)



?

	1)
	twice the sum of a number and four

	2)
	the sum of two times a number and four

	3)
	two times the difference of a number and four

	4)
	twice the product of a number and four



9
Mr. Turner bought x boxes of pencils.  Each box holds 25 pencils.  He left 3 boxes of pencils at home and took the rest to school.  Which expression represents the total number of pencils he took to school?

	1)
	[image: image21.png]22x





	2)
	[image: image22.png]25x -3





	3)
	[image: image23.png]25— 3x





	4)
	[image: image24.png]25x—-T75
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Marie currently has a collection of 58 stamps.  If she buys s stamps each week for w weeks, which expression represents the total number of stamps she will have?

	1)
	[image: image25.png]585w





	2)
	[image: image26.png]58 + 5w





	3)
	[image: image27.png]585 +w





	4)
	[image: image28.png]SB+5+wW
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Tim ate four more cookies than Alice.  Bob ate twice as many cookies as Tim.  If x represents the number of cookies Alice ate, which expression represents the number of cookies Bob ate?

	1)
	[image: image29.png]2+ (x+4)





	2)
	[image: image30.png]2x+4





	3)
	[image: image31.png]2(x+4)





	4)
	[image: image32.png]4z +2)
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Timmy bought a skateboard and two helmets for a total of d dollars.  If each helmet cost h dollars, the cost of the skateboard could be represented by

	1)
	[image: image33.png]2dh





	2)
	[image: image34.png]dh





	3)
	[image: image35.png]




	4)
	[image: image36.png]






13
Marcy determined that her father's age is four less than three times her age.  If x represents Marcy's age, which expression represents her father's age?

	1)
	[image: image37.png]3x—4





	2)
	[image: image38.png]




	3)
	[image: image39.png]4x—-73





	4)
	[image: image40.png]
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If Angelina’s weekly allowance is d dollars, which expression represents her allowance, in dollars, for x weeks?

	1)
	[image: image41.png]




	2)
	[image: image42.png]Tdx





	3)
	[image: image43.png]x+7d





	4)
	[image: image44.png]R
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Which expression represents the number of hours in w weeks and d days?

	1)
	[image: image45.png]Tw+ 12d





	2)
	[image: image46.png]24w + 244





	3)
	[image: image47.png]168w + 244





	4)
	[image: image48.png]168w + 604
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Jose wants to ride his bike a total of 50 miles this weekend.  If he rides m miles on Saturday, which expression represents the number of miles he must ride on Sunday?

	1)
	[image: image49.png]




	2)
	[image: image50.png]m+ 50





	3)
	[image: image51.png]S0-m





	4)
	[image: image52.png]50m
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Owino gets paid $280 per week plus 5% commission on all sales for selling electronic equipment.  If he sells n dollars worth of electronic equipment in one week, which algebraic expression represents the amount of money he will earn that week?

	1)
	[image: image53.png]280+ 5





	2)
	[image: image54.png]280 +0.05





	3)
	[image: image55.png]280+ 0.05%





	4)
	[image: image56.png]280+ 51
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Julie has three children whose ages are consecutive odd integers.  If x represents the youngest child’s age, which expression represents the sum of her children’s ages?

	1)
	[image: image57.png]3Ix+3





	2)
	[image: image58.png]Ix+4





	3)
	[image: image59.png]3Ix+5





	4)
	[image: image60.png]Ix+ 6
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What is the perimeter of a regular pentagon with a side whose length is [image: image61.png]x+4



?

	1)
	[image: image62.png]x4+ 16





	2)
	[image: image63.png]4x+ 16





	3)
	[image: image64.png]Sx+4





	4)
	[image: image65.png]S5x+ 20
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The length of a rectangular room is 7 less than three times the width, w, of the room.  Which expression represents the area of the room?

	1)
	[image: image66.png]Jw—4





	2)
	[image: image67.png]Jw—7





	3)
	[image: image68.png]3w? — 4w





	4)
	[image: image69.png]32 — Tw
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[image: image70.png]25(x—3) = 25x-75
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[image: image71.png]X+Xx+2+x+4=3x+6




REF:
011430ia

19
ANS:
4

[image: image72.png]
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